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1 9 BR FI A=F Uik BARNURY 5T 5146 5|46 |6 6|86 |1 14.3 57| 9.50 | 12.840 0.0 42.340
2 10 WA &Y Y34 E3Y INRESVRY 95T 4 12 (41|56 |5 (3|44 |42 15.7 44| 885| 12830 0.0 41.780
3 6 FE B LFHT T3 INRESVRY 95T 4 12 (21223 (4|64 |42 16.5 20| 935 12.605 0.0 40.455
4 7 =L E#E bMy< =4 BARNURY 95T 4 14 (5 (42|23 |3 |4]|4]|1 16.4 20| 9.70| 12.090 0.0 40.190
5 8 B FRTE FOLS ))AH BARNUR)VHZT 4 16 (4|6 |6 |4 (3|46 |41 15.2 31| 910 12435 0.0 39.835
6 3 R &R N TIX BARNURY 95T 4 14 (415|414 (4|33 |82 15.5 1.2 9.60| 10910 0.0 37.210
7 5 HLE VGO A4/9L EF/ FAIISURYHST 4 |15 (4|56 |4 (5|44 |43 15.2 0.9 10.00| 11.035 0.0 37.135
8 1 Rt & THLZ E4O BARNURY 95T 4 14 (4|6 |4 |4 (41|44 |62 15.4 1.1 9.85| 10.490 0.0 36.840
9 4 BNt 9IAT FF= FAIINSURYHST 813 (4|46 |5 (6|5 |8|7]|4 14.0 21| 9.85| 10.845 0.0 36.795
10 2 F KBE E) ILF I\RESVRY 95T 6 |6 |6 |6 |6 |7 |6 |[5|4]6]3 13.9 0.8 9.80| 11.080 0.0 35.580




